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Divide by multiples of 10, with remainders

Division Practice Worksheet

Find the quotients, including any remainders.

6,787 + 40 = 22,844 + 50 =
817 + 70 = 8,576 + 70 =
8,476 + 20 = 96,070 + 70 =
9,052 + 80 = 7,563 + 60 =
210 + 10 = 1,298 + 70 =
1,661 + 80 = 421 + 50 =
838 + 40 = 9,700 + 60 =
863 + 80 = 47,604 + 50 =
92,063 + 30 = 33,162 + 40 =
64,471 + 70 = 658 + 80 =
73,305 + 70 = 4,991 + 10 =
37,072 + 60 = 173 + 20 =
373 + 30 = 5,997 + 80 =
8,228 + 70 = 5,657 + 80 =
144 + 20 = 2,062 + 50 =
6,854 + 50 = 944 + 70 =
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Divide by multiples of 10, with remainders

Division Practice Worksheet

Find the quotients, including any remainders.

6,787 + 40 = 169 R27
817 + 70 = 11 R47
8,476 + 20 = 423 R16
9,052 + 80 = 113 R12
210 + 10 = 21 RO

1,661 + 80 = 20 R61
838 + 40 = 20 R38

863 + 80 = 10 R63
92,063 + 30 = 3,068 R23
64,471 + 70 = 921 R1
73,305 + 70 = 1,047 R15
37,072 + 60 = 617 R52
373 + 30 = 12R13

8,228 + 70 = 117 R38
144 + 20 = 7/ R4

6,854 + 50 = 137 R4

22,844 + 50 = 456 R44
8,576 + 70 = 122 R36
96,070 + 70 = 1,372 R30
7,563 + 60 = 126 R3
1,298 + 70 = 18 R38
421 + 50 = 8 R21
9,700 + 60 = 161 R40
47,604 + 50 = 952 R4
33,162 + 40 = 829 R2
658 + 80 = 8 R18
4,991 + 10 = 499 R1
173 + 20 = 8 R13
5,997 + 80 = 74 R77
5,657 + 50 = 113 RY
2,062 + 50 = 41 R12

544 + 70 = 7 R54
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